
 
 
 
 
 
 
 
 

The bee is ____ the  
flower. 

 
 

 
 
 
 
 
 

The bee is ____ the 
flower. 

 
 
 
 
 
 
 

 
The ladybug is ______ 

the bee. 

 
 
 
 
 
 
 
 

The ladybug is _____ 
the flower. 

 
 
 
 
 
 
 
 
The dragon fly is _____ 

the ladybug. 

 
 
 
 
 
 
 
 
The dragon fly is _____ 

the bee. 

 
 
 
 
 
 
 
 
The caterpillar is _____ 

the dragon fly. 

 
 
 
 
 
 
 
 
The caterpillar is _____ 

the flower. 

 
 
 
 
 
 
 
 
The caterpillar is _____ 

the ladybug. 



 
 
 
 
 
 
 
 

The bee is ____ the  
flower. 

 
 

 
 
 
 
 
 

The bee is ____ the 
flower. 

 
 
 
 
 
 
 

 
The ladybug is ______ 

the bee. 

 
 
 
 
 
 
 
 

The ladybug is _____ 
the flower. 

 
 
 
 
 
 
 
 
The dragon fly is _____ 

the ladybug. 

 
 
 
 
 
 
 
 
The dragon fly is _____ 

the bee. 

 
 
 
 
 
 
 
 
The caterpillar is _____ 

the dragon fly. 

 
 
 
 
 
 
 
 
The caterpillar is _____ 

the flower. 

 
 
 
 
 
 
 
 
The caterpillar is _____ 

the ladybug. 



 
 
 
 
 
 
 
 
The dragon fly is ______ 

the flower. 

 
 
 
 
 
 
 
 
The ladybug is _____ the 

caterpillars. 

 
 
 
 
 
 
 
 

The bee is _____ the 
dragonfly. 

 
 

 
 
 
 
 
 
The caterpillar is _____ 

the bees. 

 
 
 
 
 
 
 
 
The ladybug is _____ the 

flower. 

 
 

 
 
 
 
 
 
The flower is _____ the 

dragonflies. 

 
 

  
 
 
 
 
 
The caterpillar is _____ 

the ladybug. 

 
  

 
  
 
 
 
 

The bee is _____ the 
ladybugs. 

 
 
  
 
 
 
 
 
The dragon fly is _____ 

the bee. 



 
 
 
 
 
 
 
 
The dragon fly is ______ 

the flower. 

 
 
 
 
 
 
 
 
The ladybug is _____ the 

caterpillars. 

 
 
 
 
 
 
 
 

The bee is _____ the 
dragonfly. 

 
 

 
 
 
 
 
 
The caterpillar is _____ 

the bees. 

 
 
 
 
 
 
 
 
The ladybug is _____ the 

flower. 

 
 

 
 
 
 
 
 
The flower is _____ the 

dragonflies. 

 
 

  
 
 
 
 
 
The caterpillar is _____ 

the ladybug. 

 
  

 
  
 
 
 
 

The bee is _____ the 
ladybugs. 

 
 
  
 
 
 
 
 
The dragon fly is _____ 

the bee. 


